Multiplicacion por Celosia (B)

Use la multiplicacion por celosia para hallar cada producto.

2 2 4 2 1 7 0 3 0 0
8 8
4 2
9 7
3 3
3 8
22421 x 84933 = 70300 x 82738 =
1 4 0 7 0 55 7 9 5
1 6
8 8
7 9
3 7
8 3
14070 x 18738 = 55795 x 68973 =

MatesLibres.Com




Multiplicacion por Celosia (B) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

2 2 4 2 1 70 3 0 0

LT A3 T T0 ] 6 5 710 12 /1o T0 /] ¢
1 6,/ 6 2/ 6, 8 s, 6, 0, 4, 0, 0

0 /10 /1 10 710 /] 4 /10 70 710 /10 /],
o 8, 8, 6, 8, 4 8, 4,/ 0,/ 6,/ 0,/ 0

CAT 3 1 70 4 /10 /12 710 /10 /] 4
o 8,/ 8,6, 8,9 1 o o0 1,0 0

0 10 /1 10710 7] 4 2 /10 710 /10 710 /] 4
4,/ 6,/ 6, 2,/ 6,/ 3 o, 1, 09, 0,0

0 10 /1 10 710 /] 4 5 710 /12 /10 710 /] 4
2 6/ 6 2 6 3 4, 6,/ 0/ 4, 0 0

§ 2 7 9 3 § 1 4 0 0

22421 x 84933 = 1,904,282,793 70300 x 82738 = 5.816,481,400

1 4 0 7 0 5 5 7 9 5

0 10 10 710 10 /] 4 313 14 15 13 A
o 1,74,/ o 71/ 0 3, 0 o 2 4,/ 0

013 10 15 10 /] g 4NN N7 4 g
2,8 2 0/ 6,/ 0 8, o o 6 2 0

0o 12 10 14 10 /] 4 4 N4 6 8 14 ] 9
6, 7, 8, o 9 0 4, 5, 5,3,/ 1,/ 5

0o 1t 10 12 710 /] 4 3 13 14 16 13 7 4
3, 3 20/ 1,70 8, s s, 9,3/ 5

0 13 10 15 10 /] g LAY 2 2 0 ) 4
6, 8, 2 o 6/ 0 3 s s W1, s

4 3 6 6 0 4 8 5 3 5

14070 x 18738 = 263,643,660 55795 x 68973 = 3,848,348,535
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